EARAROBEEIERT — 2 N— IBISH —F

2018113170 (+) 3@EE5H

Al 2% 3t 5008 T B2

‘ (%] 8 ‘ [EmmEl  — | 4 (5) 17000 &

[A~&£] 1 7% :7,500,000  ~ 23 :3,000,000 337 :1,900,000F 43 :1,100,000 " ~ 5 & :750,000 9

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
SN 4 3 | AUXTS 1:45.3 2-2-1-1 | 37.4| 975 | 2 510 | ATTENE (%)
117113 ay~NILL X b 55.0 (=) (-4) JCKHIEBR
L:Ayazgr—X BNIVLR T4 Pellbie]
# 3 | ENPAS 1:45.4 8-9-2-2 |37.4| 96.6 | 1 474 | BIEEE (RR)
oMY/ -7z A 55.0 (1/2) (g | BliwE
LNZ—k1—X B:ANTIM11-X ERKS
Archfg . 34— ROER] (53R)
3 7 @F1 T —1FF— o4 o 1.?5.4 3-3-4-3 |38.1]86.7| 5 (5_020) s
R:YZRE—3IZXE— BTAT7—NRHHZR #IL S
9 s ¢ i 5 | BERE 1:46.5 14-14-11-5 | 37.7 | 86.6 | 4 522 | BESZE (RR)
al111|F7>RN=7 57.0 1/2) © W 5%
T4 bT7—bEY B:XZ2-TAI T
S V) fnf— o4 | SHEA 1:46.6 4-3-4-5 |38.3| 84.7 | 3 508 | mHIKE (3ER)
EH 5 a7 )—=Ly—2 57.0 (1/2) 0 HEBH
R:YZRE—3I=2%4— F:0Ox5 [EE]skae
= =LA e # o4 | BERE— 1:47.0 13-12-12-9 | 38.0 | 82.2 | 7 478 | PR (EiH)
6l8l14 ®@F>=>TI14>R ‘ 57.0 @ 1/2) (-12) | BlIIBEE
A:Discreetly Mine B:5>=>9JKITx+v vV J—YTr—L
. NN £ 6 | LEHAEE 1:47.1 10-9-8-5 [38.4 | 80.4 | 15 | 484 |FIEHSN (XiH)
715 g | H=nE> 7| s (7€) (+10) | 1BSE
ZonNd B:oau/IUHXRX Sote ]
= = 3 | EHEBZ 1:47.4 6-8-7-5 [38.9| 78.1 | 8 494 | FREETT (RR)
g|8l15| FF=NHTT 55.0 @) o) ") *r LA - SRTA
R:ECTAYY BT TUF— Bllikae]
- . FR—1 147, -11-12- . . MRITE (E#)
N . BRI "8RS e R e A I Wl
L:)—=FHI79r B:ZP/3H-T-2X Blite
< = £ 4 | NIXEHA 1:47.4 15-15-15-13| 38.0 | 78.6 | 14 | 478 |FBR (F=®)
1wl 6| @717 >TI— 7] 6.0 o o) | ) B
L:TUHA XTI K B:FJANY — ERizae
3 S 4 6 | EALZ 1:47.6 4-5-2-3 |39.6| 76.9 | 10 | 518 |EHRE (FEF)
1117112 A4y~ Y A54, (3/4) o) WARLTF I
RivLNyELHTT BINYLTFLIRT— IVT5TT— 1
» oL ff— 47, P ) . N3 LINE S )]
12 4| 7ITEY Y o4 = (11417/28) 8-6-8-9 |39.1| 74.8 | 9 ?8)2 /E\grsagﬁ
140 B:HXHeOq ' %
13/5/g|@7>Ux+ L [B] w7 %Eg’% 1(/17*33 11-12-14-15| 38.6 | 74.7 | 12 :1;4) E;E;E?J (=m)
ixFazgyr—Z B:vrRKAI— H"HE77—L
= AF T RIS # o4 | ML 1:48.1 6-6-8-9 [39.4| 72.6 | 6 | 460 |HEAE— (KiA)
14 100779797 RKIZ1 . A55.0 @) +10) m;ﬂm
R:VZRE—3IZR8— BAATAT—4 KiE  FRES
N cgp €2 3| BHBEZ 1:50.5 1-1-4-13 | 42.2 | 57.6 | 13 | 498 |7t (R®)
s 3 E3—X*7T21— “ 7 5500 (51%) (e) | HIEE=
LA TATv— BT var HRXEHE /-
@ 21 L
£ 49.9-37.4
NA>&A L |6.9-11.1-11.6-12.9-12.9-12.5-12.3-12.6-12.5
® 1—F—@EBIERL
1T=7r= 3,13-7(5,12) (10,15) (4,11)9(2,8)14,1-6
Pal=5F= (x3,13) (5,7)12(4,10)15(9,11)2(8,14)1-6
Jo=5r= 13(12,11) (3,5,7)15(4,10,9)1(2,14)8,6
40 —F— 13,11-(12,7) (5,15,9,1) (4,10,14)2(3,6)8
[ N5
B OB 13 7400 | | 74K 11-13 310 | | # = 6-7 410M | | =8 | 7-11-13 2,580M
8 B 13 190M4 7-13 1,360H B = 11-13 560M JEH 13-11-7 14,560M
1" 110 7-11 500M B H 13-11 1,720M
7 300M

ABICOVWTRDTEEERROODE. TR LIV,




